
E
X

P
30

60
3-

0-
L0

BEXP30603-0-L0

ANGLES 0.532
1X

X

125

.XXX   .127
.XX    .25

TOLERANCES ON
DIMENSIONS ARE IN MILLIMETERS
UNLESS OTHERWISE SPECIFIED

NOTES: UNLESS OTHERWISE SPECIFIED

A

B

C

D

8

8 7

7

6

6

5

5

4

4

FINISH:

MATERIAL:

ALL SHEETS ARE THE SAME REVISION STATUS

3

3

RELEASE APPROVAL

ENGR 3

ENGR 2

ENGR 1

ENGR
LEAD

ENGR

DSNR
LEAD

PREP

ATANASIAN, A.

MOORE, J.                                       

INNOVATIVE

APPROVED

CONTRACT  NO.

VERIFICATION
RELEASE
DATA CONTROL

REV

160114

160114

160114

160114

2

DATE

ECN

2

D
SCALE

SIZE

TITLE

00U30
NONE

CAGE CODE

DESCRIPTION

REVISIONS

DWG NO

1

SHEET

DATE

1

APPROVED

REV

A

D
W

G
 N

O
.

S
H

B

C

D

THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF INNOVATIVE INTEGRATION. IT MAY NOT BE COPIED,
USED OR DISCLOSED FOR ANY PURPOSE WITHOUT THE EXPRESS WRITTEN CONSENT OF INNOVATIVE
INTEGRATION. ALL RIGHTS RESERVED.

B 631

CARDSHARP

REVISED BY NMH PER ECN 631

EXPLODED ASSEMBLY

170428 NMH

1

NMH

HERSHFELD, N.M.

W
ed

ne
sd

ay
, J

an
ua

ry
 0

3,
 2

01
8 

4:
40

:1
3 

P
M

21 OF 

CAMARILLO, CA. 93012   (805) 383-8994
741 FLYNN ROAD a molex company

Innovative Integration
o



13 32X

20

19

10

6

14 4X

7

11

2

9

17

8

5

32X
15 10X

18

42X

1

21

12 6X

166X

ITEM NO. PART NO. DESCRIPTION QTY

1 61428C PLATE, TOP, SBCN 1

2 61452B PLATE, BOTTOM, SBC-NANO 1

3 61465B PLATE, SIDE, CARDSHARP 2

4 62032-13A GAP PAD, 0.010” THK, Cardsharp Side Plate, (CUT 
FROM 62032) 2

5 61463B PANEL, FRONT, CARDSHARP 1

6 61464B PANEL, REAR, CARDSHARP 1

7 61438B HEATSINK, NANO, SBC-NANO 1

8 61435B HEATSINK, CARDSHARP FMC 1

9 64164-1B OVERLAY, PANEL, FRONT, CARDSHARP 1

10 64161-1B OVERLAY, PANEL, REAR, CARDSHARP 1

11 61453A NEOPRENE RUBBER, BOTTOM, SBC-NANO 1

12 63379 SCREW, CAP, BTNHD, M2.5X12 6

13 63377 SCREW, CAP, 10.9 STL, FLHD, M2.5X8 32

14 63393 SCREW, CAP, 10.9 STL, FLHD, M2.5X5 4

15 63398 SCREW, CAP, 10.9 STL, M2.5X4 10

16 63395 WASHER, 18-8 SS, INT LK, M2.5 6

17 80332-0-L0C CCA, CARDSHARP 1

18 PER CUSTOMER 
ORDER FMC MODULE 1

19 80355-0-L0A PCB ASSY, JTAG PANEL BOARD, CARDSHARP 1

20 61525A FANSINK ASSEMBLY, QUAD FAB, SBCN 1

21 62032-10 GAP PAD, FANSINK (Cut From 62032 - For 61525 
Assembly) 1

BEXP30603-0-L0

A

B

C

D

8

8 7

7

6

6

5

5

4

4

3

3

USE OR DISCLOSURE OF DATA CONTAINED

2

2

D
SCALE

SIZE

00U30
NONE

CAGE CODE DWG NO

1

SHEET

1

REV

A

D
W

G
 N

O
.

S
H

B

C

D

2

2

ON THE TITLE PAGE OF THIS DOCUMENT
HEREIN IS SUBJECT TO THE RESTRICTION

E
X

P
30

60
3-

0-
L0

W
ed

ne
sd

ay
, J

an
ua

ry
 0

3,
 2

01
8 

4:
40

:1
3 

P
M


	Sheet1
	Drawing View1

	Sheet2
	Drawing View3


